
Area Symbol Formula
Standard 

(%)

End of this 

Month %

End of 

Asoj %

C0f xfgLsf nflu 5'6\ofOPsf] /sd X 100%
!@ dlxgf eGbf a9L efvf gf3]sf] C0f

C0f xfgLsf nflu 5'6\ofOPsf] /sd  × 100 %

!@ dlxgf eGbf sd efvf gf3]sf] C0f

v'b C0f  × 100 %

s"n ;Dklt
s"n art   × 100 %

s"n ;Dklt
afXo C0f × 100 %

s"n ;Dklt
z]o/ k"FhL  × 100 %

s"n ;Dklt
;+:yfut k"FhL × 100 %

s"n ;Dklt
s"n efvf gf3]sf] C0f × 100 %

s"n p7\g afFsL C0f
k|ltkmn cfh{g gug]{ ;Dklt × 100 %

100.0

35.0

71.0

81.1

0.0

9.4

5.4

3.0

2.0

Ratio

PEARLS auL{s/0f k4ltsf k|d'v cg'kftx?

sflt{s d;fGt, @)&%

100.0

P2 4,970,764.00      14,202,184.00       35 35.0

P = 
Protection

P1 225,442.00         225,442.00            100

70 - 80 69.1

E5 542,020,504.10  672,173,685.35     70 - 80 80.6
E = 

Effective 

Financial 

Structure

E1 464,471,810.00  672,173,685.35     

E6 -                      672,173,685.35     

E9 35,276,386.11    672,173,685.35     Min. 10 5.2

0 0.0

E7 66,072,600.00    672,173,685.35     10 - 20 9.8

< 5 3.1

A2 9,440,730.65      672,173,685.35     < 5 1.4

466,534,141.00     

A = 

Assets 

A1 14,427,626.00    

k|ltkmn cfh{g gug]{ ;Dklt × 100 %

s"n ;Dklt
;+:yfut k"FhL + lgMz'Ns bfloTj  × 100 %

k|ltkmn cfh{g gug]{ ;Dklt
nfef+z × 100 %

 cf};t z]o/ kF"hL
;~rfng vr{ × 100 %

cf};t ;Dklt
v'b cfo ÷ gfkmf × 100 %

cf};t ;Dklt

s"n t/n ;Dklt – cNksflng bfloTj × 100 %

s"n art
t/n sf]if × 100 %

s"n art

cfh{g gug]{ t/n ;Dklt × 100%

s"n ;Dklt
o; aif{sf] s"n;b:o – ut aif{sf] s"n ;b:o × 100%

utaif{sf] s"n ;b:o

o; aif{sf] s"n ;Dklt – ut aif{sf] s"n ;Dklt ×100%

ut aif{sf] s"n ;Dklt

=====================

tof./ ug]{

327.2

12.2

0.2

0.7

22.7

7.6

0.5

1.8

1.0

2.0

A3 44,547,021.85    9,440,730.65         ≥ 200% 471.9

A2 9,440,730.65      672,173,685.35     < 5 1.4

R =Rates 

of Return

R7
At least 

Inflation
12.15

R12 4,901,012.40      659,831,661.67     Min. 10 0.7

R9 3,982,054.00      659,831,661.67     5 0.60

S =Sign 

of 

Growth

S10 90 4,435 Min.12 2.0

Assets 

Quality

15-20% 19.4

L2 88,052,757.83    542,020,504.10     10% 16.2
L = 

Liquidity

L1 105,259,488.87  542,020,504.10     

L3

======================

k|dfl0ft ug]{

S11 24,684,047.35    647,489,638.00     
At least 

Inflation
3.8

1%< 0.21,275,304.00      672,173,685.35     


